IDWLRQDO 7THVWLQJ $JH

b b
4XHVWLRQ 3DSHU 1DPH &RPPHUFH WK 2FW
6 XEMHFW 1DPH &RPPHUFH

&UHDWLRQ 'DWH
'"XUDWLRQ
1XPEHU RI 4XHVWLRQV

7TRWDO ODUNYV

'LVSOD\ ODUNYV <HV
b b
b b

&RPPHUFH

*URXS 1XPEHU

*URXS |G

*URXS OD[LPXP "'XUDWLRQ

*URXS OLQLPXP "XUDWLRQ

6KRZ $SWWHQGHG *URXS" 1R
(GLW $WWHQGHG *URXS" 1R
%UHDN WLPH

*URXS ODUNV

, V. WKLV *URXS IRU ([DPLQHU" 1R
b b
b b

3$57 , *HQHUDO 3DSHU

6HFWLRQ ,G
6HFWLRQ 1XPEHU

BHFWLRQ W\SH 2QOLQH

6KLI



ODQGDWRU\ RU 2SWLRQDO

1XPEHU RI 4XHVWLRQV

ODQGDWRU\

1XPEHU RI 4XHVWLRQV WR EH DWWHPSWHG

6HFWLRQ ODUNYV

ODUN $V $QVZHUHG 5HTXLUHG"

6XE 6HFWLRQ 1XPEHU

6XE 6HFWLRQ ,G

AXHVWLRQ 6KXIIOLQJ $OORZHG

b

4XHVWLRQ
<HV *URXS

4XHVWLRQ

4XHVWLRQ

, G

IDEHO

I1XPEHUV

<HV

<HV

b

4XHVWLRQ 7\SH
&RPSUHKHQVLRQ 4XHVWLRQV 1R

WR

&RPSUHKHQVLRQ

&2035(+(16,21 6 XE 4XHVW

Consider the following table that shows the percentage (%) distribution of runs scored by an
Indian batsman against different countries in one-day internationals (ODI) and T 20 world
cup matches. Total runs scored by the Indian batsman in ODI and T20 are 2800 and 2000

respectively. Based on the data in the table, answer the questions 1- 5:

Countrywise Distribution of Runs :

Country Percent (%) of Runs Scored
0DI T20
Pakistan 10.50% 09.50%
England 11.00% 09.00%
Australia 17.50% 11.50%
South Africa 12.50% 16.50%
Sr1 Lanka 09.00% 12.50%
New Zealand 12.00% 10.00%
West Indies 14.00% 18.00%
Others 13.50% 13.00%

6XE TXHVWLRQV

b

4XHVWLRQ 1XPEHU

&RUUHFW ODUNYV

4XHVWLRQ ,G
4XHVWLRQ ODQGDWRU\ 1R

"URQJ ODUNV

4XHVWLRQ 7\SH

0&4



If the batsman played 14 mnnings against Sr1 Lanka in ODI and remained not out In
5 innings, then the average runs scored by the batsman against Sr1 Lanka are :

() 28 (2 24

(3 26 4 22

2SWLRQV

b

AXHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNYV :URQJ ODUNYV

Total runs scored by the batsman against New Zealand in T20 matches are approximately

what percent (%) of the total runs scored agamnst Pakistan in ODI matches?

1) 64% () 66%

3)  62% 4) 68%

2SWLRQV

b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

In the case of which of the following countries, the difference between the runs scored by the

batsman in ODI and T20 is the second lowest?
(1)  SrLanka (2) Pakistan

(3)  South Africa (4) West Indies

2SWLRQV

0&4

0&4



b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV

The runs scored by the batsman against West Indies in T20 are approximately what percent

(%) of the runs scored against Austraha in ODI?

1 7% @ 5%

3 73% 4) 69%

2SWLRQV

b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNYV :URQJ ODUNYV

If the batsman had scored 280 runs against Pakistan in T20 matches, then what would have
been the percentage of runs scored by the batsman in the T20 matches against all other

countries (Assuming that the total runs scored by the batsman in T20 remains the same
(that 13 2000))?

(1) 88% (2) 84%
(3) 86% 4) 90%

2SWLRQV

0&4

0&4



b

4 XHVWLRQ
<HV *URXS
4XHVWLRQ

4XHVWLRQ

b
, G 4XHVWLRQ 7\SH
&RPSUHKHQVLRQ 4XHVWLRQV 1R
I1XPEHUV WR

IDEHO &RPSUHKHQVLRQ

e & 8 it W faEn W, g9 v Wi SeoE g o fGaEE dawe (A S an) e d 20

]

fava 9 3= 8 ffe= 3 % e a9 o @1 uem (%) e e w2 )| s seees g

ATEAE A7 A 20 #= A T T FA A A FA: 2800 3w 2000 7 | Aferw 7 B MW A F

AR THE, 19 5% FH e

1 1 29-a7

m I T A T (%)
ATETE 7120
TR 10.50% | 09.50%
TeTE 11.00% | 09.00%
St 17.50% | 11.50%
e ahre | 12.50% | 16.50%
ST 09.00% | 12.50%
EEIRLE 12.00% | 10.00%
I 14.00% | 18.00%
# 13.50% | 13.00%

6XE TXHVWLRQV
b

4XHVWLRQ 1XPEHU

4XHVWLRQ ,G

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV

:URQJ ODUNYV

4XHVWLRQ 7\SH

2 AT 4 SIS A Ao % faes 14 T el S 5 Wi A Am-a @, A aeesrd g

1 928
G 2

2SWLRQV

2)
4)

24
22

&2035(+(16,21 6XE 4XHVW

0&4



b

4 XHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH 0&4
AXHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNYV

FeeAaTs g 2 20 4§ SIS (G S0 W Fe W SIS F § OEE F ers s

T T F AN R T (%) 7

1) 64% @) 66%

(3) 62% (4) 68%

2SWLRQV

b

AXHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH 0&4

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

freifetfias @ @ 779 20 % A 4 SeeEns g AT A & 20 ° T T 6 A 5 T

AR 27

(1)  Hiw (9) A

(3) e b 4) ===

2SWLRQV

b

AXHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH 0&4

4XHVWLRQ ODQGDWRU\ 1R



&RUUHFW ODUNYV "URQJ ODUNV

e g 21 20 HE A A o FEeE S T AT A A Ao % e s

1 AT B T (%) 7
1 7% (2) T5%
@) 7% @) 69%
2SWLRQV
b
4 XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&4

4XHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNYV :URQJ ODUNYV

A2 Seears 4 21 20 51 § WiEH % fgens 280 T §A0 9, 91 36 g0 w4 g4 5 % fgens 2120
At | 10 0 T A R wfr (98 W ge R E 20 #91 8 seoer g s T Ee W 9
(377 2000) T4 7) 7

(1) 88% (2) 84%
(3) 86% 4) 90%
2SWLRQV

6XE 6HFWLRQ 1XPEHU

6XE 6HFWLRQ ,G

AXHVWLRQ 6KXIIOLQJ $OORZHG <HV
b b
AXHVWLRQ 1XPEHU 4XHVWLRQ ,G AXHVWLRQ 7\SH 0&4

4XHVWLRQ ODQGDWRU\ 1R



&RUUHFW ODUNYV "URQJ ODUNV

For optimising learning outcomes which of the following factors have been 1dentified as most
effective 1n terms of research evidences in the global context?

(1) Home related factors
2
(

3)  Teacher related factors

School related factors

"

(4)  Supplementary technological devices related factors

2SWLRQV

b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&4
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNYV

ST T i P S % T Fefiad § 6 HA 8w s 5ol § a e g g

(1) T 59l 0
(2)  TauTeE Hatad FE
(8) T TaiG FF

(4)  FITF A SR FEt B

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&4
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNYV



What 1s the hallmark of reflective teaching?

(1) Clear, organized and well structured content
(2) Personalized. interactive and high level of cognitive interchange
(3) Systematic, planned and quick question-answer session
(4) Logical. coherent and example based presentations
2SWLRQV
b b
4 XHVWLRQ 1XPEHU AXHVWLRQ ,G A4XHVWLRQ 7\SH
AXHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNYV "URQJ ODUNYV
(1) w2, Tfed 31 gEif=d faogeeg
(2) =i, FAd:THATcHF AR Foa EHE GFEICAS AREFE-TEH
(3)  =Hafom, giEtad o1t ga T 3o T
(4)  TIHF, TEFA T IIETT AT T AT
2SWLRQV
b b
A XHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV

0&4

0&4



Identify the correct sequence of cognitive behaviours in the taxonomy of educational

objectives :

(A) EKnowledge

(B)  Application

(C)  Understanding
(D)  Analysis

(E)  Synthesis

Choose the correct answer from the options given below :

1) (A).().(C). D) and (E) 2 (D). E). A). (B) and (C)
3 (A).(C). (B). (D) and (E) 4) (D). (E). Q). (C) and (B)
2SWLRQV
b b

4XHVWLRQ 1XPEHU 4AXHVWLRQ ,G
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

A& IEETA F ATTHA F AFACHF RNl ® TEl FA T T W

a) FH

B) DM
(C) wFam™
(D) v
(E) ®vemm

I T3 ™ fawen 8§ wE I g

4XHVWLRQ 7\SH

(1) (A (B, (C). (D) 3R (E) 2) (D), (E). (A). (B) 5 (C)

(3)  (A).(C). (B). (D) 3 (E) (4) (D). (E), (A), (C) 7 (B)

0&4



2SWLRQV

b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G
4XHVWLRQ ODQGDWRU\ 1R

4XHVWLRQ 7\SH 0&4

&RUUHFW ODUNYV URQJ ODUNV

In which scale of measurement. classification, order and equality of units are ensured?

(1)  Ordinal (2) Nominal
(3)  Interval (4) Ratio
2SWLRQV
b b
4 XHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH 0&4

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNYV
o TR =1 AU | ZeRTEAT 1 i, ST AE gifvad Bt 2 e

(1) =HE=F

(2) =+

(3) AT (4) 9™

d

2SWLRQV



b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

Given below are two statements

Statement I: Computer based testing ensures high rehability and validity in the process of
evaluation centred on effective and conative domains of behaviour.

Statement IT: Support materials in the form of programmed instructional models have a
tremendous potential to maximize learmng.

In the light of the above statements, choose the correct answer from the options given below:

(1)  Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3)  Statement I 1s correct but Statement II 15 false

(

4)  Statement I 1s incorrect but Statement II 1s true

2SWLRQV
b b
AXHVWLRQ 1XPEHU 4XHVWLRQ ,G AXHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

0&:

0&.
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T 1 39T G e |

T (D) : AR ST TOAM % B7 ¥ TEE G 3 A H w9
TR FA F A § AR e 8 0 IO

(1) FRIAMAIATAE |

() oA I 2 e 7 |

() FF 17 % g #1172 |

@) FF 9 2 g Fo0 Lo 2 |

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&

4 XHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNYV "URQJ ODUNYV
Which argument may be advanced 1n support of action research in education?

(1) The researcher breaks fresh ground n the field of enquiry.
(2)  The knowledge 1s applied to extend further generalization.
(3)  Some new principles are formulated for explaiming the events.

(4)  The educational situation as well as the practitioner of education undergo a change
for the better.

2SWLRQV



4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

To1er ® TraTea Ty % 999§ g § | i |1 99 241 S Hedl A ¢

(1)  THosal =90 = &9 °§ 75 HYEH G 7 |

(2) T T | T SR B E

(4)  steators Teafa o7 fea & si9ameedT | sEdl & 670 IHadd 26T & |

2SWLRQV
b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

The eritical difference between experimental and ex post facto research lies in terms of :

(1)  Selection of sample

2) Causal connection between two variables

(3) Use of rezearch tools

(4)  Control and manipulation of independent variable

2SWLRQV
b b

4 XHVWLRQ 1XPEHU 4XHVWLRQ ,G A4XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

0&

0&.

0&.



FefAfEs o ® 79 22 O TErmens 31 FEie wg § gEeayn 3 A A
(1)  wfiest & ==A

(2) = =0 % o" FA-FE 69y

(3) MY U FT 9N

(4)  FiEE = ° e H Srsars

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&:

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNYV

In establishing a research problem for a Ph.D level course, 1n the 1nitial stage which of the
following stages are crucial?

(A)  Hypothesis making
(B)  Locating a problem area from a field through survey of related hiterature
(C)  Defining the population of research and its characteristics

=

) Selecting a pointed 1ssue called a problem by a process of logical analysis

(E)  Defining and delimiting the problem

Choose the correct answer from the options given below :

(1)  (B). (D) and (E) only (2) (B).(C) and (D) only
(3)  (A). (B) and (C) only (4) (C). (D) and (E) only
2SWLRQV
b b

4XHVWLRQ 1XPEHU 4 XHVWLRQ ,G 4XHVWLRQ 7\SH 0&



4XHVWLRQ 0DQGDWRU\ 1R

&RUUHFW ODUNYV 'URQJ ODUNYV

01,0931, T F WA F 0 g g i F 4 TR T q fetang 4 5 w6 56 E
AT Teeaq 77

(A) I F

(B) el Wifzed % WAV % WIS U & W WA 4 I Taiad w1 |

(C)  Tma % HH T 35T fammaran F1 afenfad e |

(D) T foer 1 W g fafea geg, fom wwen e S, w1 = we

(E) T 1 UiTHTis S e e |

(1)  #3 (B), (D) 4% (E) (2) Fa (B). (C) ¥R (D)

(3)  Fa (A), (B) ¥ (C) (4) =& (C), (D) ¥ (E)

2SWLRQV

b b

4 XHVWLRQ 1XPEHU 4 XHVWLRQ ,G 4XHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

From the following. 1dentify those which are called non-probability sampling procedures :

(A)  Systematic sampling
(B)  Quota sampling

(C)  Stratified sampling
(D)  Purposive sampling
(E)  Snowball samplhing

Choose the correct answer from the options given below :

(1) (A). (B) and (C) only (2) (B).(C) and (D) only
(3)  (B), (D) and (E) only (4) (C). (D) and (E) only

2SWLRQV



b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

frefafas 3§ 3§ T-arsa e afee wiaees gfate £ 1w =

(A) =ErEd yiaae e
(B)  AuIa Tfaest gfa=r=
(C)  =dia ufassl wiq=e=
(D)  Tigeva wiest T

(E)  =m&ie Tiqes aia=ee

(1)  F== (A). (B) 31 (C) (2) Fa= (B). (C) ¥ (D)
(3)  #a= (B). (D) ¥% (E) 4) Faa (C). (D) 3% (E)
2SWLRQV
b b
4 XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



(Given below are two statements :

Statement I: The goal of mnquiry in fundamental research 1s directed at bringing an
mcrement 1n the fund of knowledge.

Statement II: Action research 1s a research by the practitioner. for the practitioner and of
the practitioner.

In the light of the above statements. choose the correct answer from the options given below :
(1)  Both Statement I and Statement II are true

(2)  Both Statement I and Statement II are false

(3)  Statement I 1s correct but Statement IT 15 false

(4)  Statement I is incorrect but Statement II 1s true

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV ‘URQJ ODUNV

= = A ffr e E

FoA (I): Tl 09 T =90 1 35279 THHE ° Jhg FE 26 7 |

FoA (1) . ToFaTeas Tg STSmaal g1, SSEFal % (670 378 STaal &1 My 2 |
T FUA F AF T FATH GFed T F FAGF 9T I G

(1) = I ¥R I 5 7 |

(2)  Foa IR I 21 |21 48 7 |

(3) = 1T 2, g FoF 58 T 2|

(49 = 198 78 7 g Fe LR 2 |

2SWLRQV

0&



4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

Announcement of arrival and departure of trains at raillway stations 1s :

(1) Spatial communication (2) Organisational communication

(3) Public communication (4) Sectional communication

2SWLRQV

b b

4 XHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH
4 XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNYV

(1) =i Fuam (2) ETSACHE TUT

(3)  wTER (4)  wEHFE =

2SWLRQV
b b

4 XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

0&

0&

0&.



Factors that contribute for effective classroom communication are :

(A) Information overload

(B) Use of unfamiliar words
(C) Balanced flow of words
(D) Circular flow of messages

(E) Mechanism to assess the feedback

Choose the most appropriate answer from the options given below :

(1) (A). B). (C) only (2)  (B). (C). (D) only

(3)  (A). (D). (E) only @ (C). (D), (E) only

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNV ‘URQJ ODUNV
feTeifiad § @ HH © H A1 § THE U0 § T0EH B B 7
(A)  guaT il sAtgwa

(B)  AUil= a1 ST

(C) 92 =1 Hefetd T

(D)  H=30 1 = TR

(E)  wiagie (Fied®) + Aer % o 5

(1) < (A), (B) 1 (C) (2) Fa (B), (C) = (D)

(3) &A= (A). (D) ¥ (E) @) === (C). (D) ¥ (E)

2SWLRQV

0&



b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

Given below are two statements :

StatementI: The content and style of communication are the predictor varlables of
effective teaching.

Statement II: A good and communicative teacher evokes relatively less questions from the
students.

In the light of the above statements, choose the correct answer from the options given below:
(1)  Both Statement I and Statement II are true

(2)  Both Statement I and Statement II are false

(3)  Statement I 1s correct but Statement II 15 false

(4)  Statement I 1s incorrect but Statement II 1s true

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV

0&.

0&:
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2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNYV :URQJ ODUNYV

Find out the correct sequence of the following transmissions :
(A) Narrowcasting

(B) Telegraph

(C) Broadcasting

(D) Telephone

(E) Podcasting

Choose the correct answer from the options given below :

(I) (A (C). (B). (E). (D) (2) (B). (D), (C). (A). (E)
(3)  (C). (D). (E). (A). (B) 4) (D). (E). (A). (B). (C)
2SWLRQV
b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&.



4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV

=Tfeiad U9 i HE % S
(A) TR

(B) e

(C)  wis=IET

(D) A

(E) dis=iie=n

e @ ®.D).(©). A, E®)

3 (0. D). B). A, ®) D DL

2SWLRQV

’ b

AXHVWLRQ 1XPEHU 4XHVWLRQ ,G AXHVWLRQ 7\SH 0&:

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



Match List I with List IT

List I

(Examples of Communication)

(A) A company bhoss telephones

List IT

(Type of Communication)

his/her (I) Marketing communication

secretary for some help from outside.

(B) A company issues a circular of (II) Horizontal communication

cuidelines for 1ts employees.

(C) Employees discuss certain
among themselves.

(D) A company sends a formal letter to its

retailers and wholesalers.

1ssues (III) Vertical communication

Choose the correct answer from the options given below :

(1 (A)-0V), (B)-I0), (C)-ID), (D)-M
@2  (A)-O. B)-I). (C)-Id). D)-IV)
(3)  (AID). (B)-ID. (C)-IV). D)-@D
4) (A1), (B)-IV), (C)-@D. (D)-AD

2SWLRQV

b

AXHVWLRQ 1XPEHU
4XHVWLRQ ODQGDWRU\

b

4XHVWLRQ ,G
1R

&RUUHFW ODUNYV URQJ ODUNYV

(IV) Informal communication

4XHVWLRQ 7\SH

0&:
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2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&:

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV



(Given below are two statements

Statement I: If an article 1s sold at a gain of 19%. then selling price 15 109% of cost price.
Statement IT: If an article 1s sold at a loss of 9%, then selling price 15 109% of cost price.

In the light of the above statements, choose the most appropriate answer from the options
o1ven bhelow :

(1)  Both Statement I and Statement II are correct

(2)  Both Statement I and Statement II are incorrect

(3)  Statement I 1s correct but Statement II 1s incorrect

(4)  Statement I 1s mcorrect but Statement II 1s correct

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

TR FAmmE:

Fo (I):  af FE ag 19 wfqud =9 W fagea 91 72 2 1 3 gea, 9 g3 109 79 2 |
For (ID): Af F75 7 9 Tigor Fi 7107 = g i 7 2 71 fawd g, = 977 1 109 TwE 2 |

T T F AF [ ARG G § 5w w9 3 4

(1) A I3 I3 w2 7 |

(9 F [ I 2 el 4 7 |

() wF IwE E, by o aE T R
@) w17 7 ¢ A T2

2SWLRQV



b b

4 XHVWLRQ 1XPEHU AXHVWLRQ ,G A4XHVWLRQ 7\SH 0&.
AXHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNYV "URQJ ODUNYV
Find odd one out in from the following :
e 12 17:19. 73
@ 7 2) 12
(3) 17 4 19
2SWLRQV
b b
4 XHVWLRQ 1XPEHU 4 XHVWLRQ ,G A4XHVWLRQ 7\SH 0&.

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

Fferfiga O O 79 F1 T5=E i

a0k 121, 1935

(1) 7 2 12
(3) 17 (4 19
2SWLRQV



4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

At what angle the hands of a clock are inchined at 15 minutes past 57

1 1
1 58 —° 2) 67-°
(1) 5 (2) 5
1 1
3 68—° 4) T2-=°
(3) 5 (4) 5
2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNYV :URQJ ODUNYV

59 #1015 fome w =i 1 geat =i @1 =i At ¢

1 1
1 58—° 2 67—"
(1) A8 (2) 2
1 1
3 68—° 4 f i
(3) = (4) 5
2SWLRQV
b b
AXHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNYV



(Given below are two statements :

Statement I: A number 1s divisible by 3, 1if the sum of 1ts digits 1s divisible by 3.

Statement IT: A number 1s divisible by 9. 1f the sum of its digits 1s not divisible by 9.

In the hight of the above statements, choose the most appropriate answer from the options

g1ven helow :
(1)  Both Statement I and Statement II are correct
(2)  Both Statement I and Statement II are incorrect
(3)  Statement I1s correct but Statement I 1s incorrect
(4)  Statement I1s incorrect but Statement II 1s correct
2SWLRQV
b b
4 XHVWLRQ 1XPEHU 4XHVWLRQ ,G AXHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNYV

wud ([) : U = 3§ faursa 7, ate SEh 3R w0 A 3 F e 7

Fue (II) : U T 9 § {99759 7 30E 39 3791 F1 I 9§ a9 77 7 |

ST FYAT % ATAF A e e § ¥ Faites suged 39 9

(1)
(2)
(3)
(4)

FoF 1 o 21 51 7 |
FoA I 3R 11 2 58 721 7 |
Fuq [ 97 2, g wua L0846 #

FoH 1 @8t 771 7 Toha wom I 541 7 |

2SWLRQV



b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G
4XHVWLRQ ODQGDWRU\ 1R

4XHVWLRQ 7\SH 0&

&RUUHFW ODUNYV "URQJ ODUNV

The difference between the squares of two consecutive numbers 1s 3. The smaller number 1s

1 14 (2) 15
3 16 4 17
2SWLRQV
b b
AXHVWLRQ 1XPEHU 4XHVWLRQ ,G AXHVWLRQ 7\SH 08&.

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV
21 I Tl o a7 o | 1 3T 35 7 | g T A B

(1) 14

2 15
(3 16 @ 17
2SWLRQV
b b
4AXHVWLRQ 1XPEHU 4XHVWLRQ ,G AXHVWLRQ 7\SH 0&.



4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV

Identify the characteristics of the ‘middle term’ from the following :

(A) It must be present in the minor term

(B) It must be present in all positive instances in which the major term 1s present
(C)  Itisthe logical statement which 1s to be proved

(D) It must be absent 1n all negative instances in which major term 1s absent

(E)  Itis drawn from the preceding propositions

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only (2) (B). (C) and (D) only
(3)  (C), (D) and (E) only (4) (A), (B) and (D) only
2SWLRQV
b b
4 XHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV

0&



fafafas & ¥ ‘weg w2’ # fsfieared & w9 fif

(A)  TE UH-TZ § AEYEAF FY T IIRYG 51 =0T
B) I A A THEATHF U § ST BET A10E0 Fa A1 uE I # |

[

(C) == 7% 97 FuH 7 T8 fug fen w1 2

(D) 7= 3 T FTHEREF 2 0 SEIES T =10 FE 616 0g 9 F |

(E) g7 Hadi ufasica o formm w2 |

(1) FEa Q). (B) 37 (O) (2) = (B), (C) 1% (D)

3)  Fa@ (C). (D) 1 (E) @) Fa9 (A). (B) 1 (D)

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4 XHVWLRQ ,G 4XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNYV :URQJ ODUNYV

“‘Upanaya’ in Indian Nyaya Syllogism’ corresponds to which of the following in Amstotelian
Syllogism?

(1)  Major premise (2) Mmor premise
(3)  Conclusion (4) Both major and minor premises
2SWLRQV

0&.



4XHVWLRQ 1XPEHU 4XHVWLRQ ,G
4XHVWLRQ ODQGDWRU\ 1R

4XHVWLRQ 7\SH 0&:

&RUUHFW ODUNYV URQJ ODUNV

AT % = A § Feigd 8 U A S a8 39 o SE

(1) = wiasr (2) w& Wi

(3) T (4) 3 TR 9 vE N

2SWLRQV
b b

AXHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNYV
“Fire 15 not warm because it 13 produced such as water”, 15 an example of which type of
fallacy?
(1)  Satpratipraksha (2) Badhit-vishaya
(3)  Virudha (4) Swaroopasidha
2SWLRQV
b b
4 XHVWLRQ 1XPEHU AXHVWLRQ ,G A4XHVWLRQ 7\SH 0&.

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

" 31 T TE T 9 T 6] T w99 £, 9% [0 TEE F ScdIa # S5

sy

(1)  =auia9e (2) =EE-TEE
(3 T2 (4) w==9 fag



2SWLRQV

b b

AXHVWLRQ 1XPEHU 4XHVWLRQ ,G AXHVWLRQ 7\SH
AXHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNYV

Gaven below are two statements :

Statement [: Keval vyatireki form of inference 1s that when the mddle term 1s the
differentium of the minor term.

Statement IT: Kevalanvayi form of inference 1s that when the mddle term 1s both
positively and negatively related to the major term.

In the light of the above statements, choose the correct answer from the options given below :

(1)  Both Statement [ and Statement II are true

(2)  Both Statement I and Statement II are false

(3)  Statement I 1s correct but Statement IT 1s false
(4)  Statement I 1s incorrect but Statement II 1s true

2SWLRQV
b b
AXHVWLRQ 1XPEHU 4AXHVWLRQ ,G AXHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

0&:

0&.



fFRIFRAmmE

FoF () Fae A 97 AF & G e e, e vg T R

For (I): Faaradl 92 F9F 2 1990 91 T THWcT 09 TG 2H1 #7 °§ 419 0 § metd

A E

T FOHI F A A AR e § H T IO

(1) FF IO w4 F |

@) Fom [ AR 2 T

(3 FRITAZFFAIITRZ

(4) T ] 7@ 2 T = [L98 2 |

2SWLRQV

b b
AXHVWLRQ 1XPEHU AXHVWLRQ ,G

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

4XHVWLRQ 7\SH

The knowledge of the relation between name and an object denoted by that name 1s called :

(I)  verbal testimony (2) 1mplication

(3)  inference (4) comparison
2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

4XHVWLRQ 7\SH

0&.

0&.



M UF W % A= % G9Y 7 | am F AR e w2 e #wd

(1)  Teg-THm (2) fAEaTd

(3) HAAT (4) demM

2SWLRQV

b b

AXHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNYV

Ankur receives an email informing him that his credit card 1s going to be cancelled. The

email advises him to click on the provided link and sign into his online banking account to

prevent this from happening, which he does. A week later, Ankur notices that ¥ 10,000 has
been withdrawn from his bank account. What has Ankur fallen vietim to?

(1)  Aphishing scam
(2)  ATrojan horse

(3)  Online blackmail

4 Avirus

2SWLRQV

b b

4 XHVWLRQ 1XPEHU 4XHVWLRQ ,G A4 XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

0&:

0&:



&RUUHFW ODUNV 'URQJ ODUNV

T | T §-Hel WA E & (A T AA 2 b 6 H152 WG G A @ 2| 9 -6
1 38 79 A W 2 T UE gied A 7, 369 o a4 fou o fork w e o e o e st
I 0 WA F| T W W F U T 2| U T AT AF O 7 F O 9 G 6

10,000/- =7 1 TR 1 G 1 7 3 | g Fetenad A 8 o e g

(1) T o
@ ZwEE

(3) e S

) aE

2SWLRQV

b b

AXHVWLRQ 1XPEHU 4XHVWLRQ ,G AXHVWLRQ 7\SH 08&.

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNYV

(Given below are two statements :

Statement I: A company-wide network, closed to public access, which uses internet-type
technology 1s called World Wide Web.

Statement II: MODEM 1s a device that enables a computer to communicate over telephone
lines.

In the light of the above statements, choose the correct answer from the options given below :
(1)  Both Statement I and Statement II are true

(2)  Both Statement I and Statement II are false

(3)  Statement I 1s correct but Statement II 1s false

(4)  Statement I 13 incorrect but Statement II 1s true

2SWLRQV



b b

AXHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH 0&.
4XHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNYV ‘URQJ ODUNV

For (IT): #r=q (MODEM) U% 9138 # 1 Ft Fil ZoiI%H A5 W FHhe F % [0 H4m
T |

T FO T AAF J AR e 4 9 WA IO

(1) FF s w2 |
(@  FE LR A e 2 |
(3) T 1T 2 g 5 7 2 |

@)  F ] o g % 1157 2 |

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&:

AXHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNYV
Given below are two statements :
Statement I: The value of hexadecimal number 21 13 33 in decimal number system.
Statement IT: The value of binary number 1110 1s 14 in decimal number system.

In the light of the above statements, choose the correct answer from the options given below :
(1)  Both Statement I and Statement II are true
(2)  Both Statement I and Statement II are falze

(3)  Statement I1s correct but Statement II 1s false
(4)  Statement I 1s incorrect but Statement II 1s true

2SWLRQV



b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV 'URQJ ODUNYV

21 Fom frm o 2

FH (I):  3EIWH (FARTSfae) T 21 1 99 e S e § 33 7 7
FoF ([D) :  Tgaamarl g 1110 =1 A Z9Hera S Tonell 3 14 7ra # |

ST HUA F A H I e § H HA I

(1) e 3R I3 &3 7 |

(2 w2 Tom & |

(3) FF I15F 2 g F9F 11 77em 7 |
(@) FuA I 3mca 2 g Fom I TA 2 |

2SWLRQV
b b
AXHVWLRQ 1XPEHU 4XHVWLRQ ,G AXHVWLRQ 7\SH 08&.

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNYV



Match List I wath List IT :

List I
(Digital Imtiative)
(A) NAD

(B) SWAYAM PRABHA

(C) NDL

(D) SWAYAM

Last IT

(Objective)
Utihzation of satellite communication
technologies for transmission of

education e-contents through National
channels

(I) All-digital hbrary that  stores

(D

Iv)

information (metadata) about different
types of digital contents.

24x7 online store house of all
academic awards wviz. certificates,
degrees efe.

Offers various online courses for school
education and higher education.

Choose the correct answer from the options given below :

1) A, B)-D). (C)-), D)-IV)
2 (A, B)-D. (C)-1D, (D)-IV)
(3 (A1) B)-1V). (O)-ID. @)-0
@ A-IV), B)-@). (C)-1D. (D)D)
2SWLRQV
b

4XHVWLRQ 1XPEHU

4XHVWLRQ ODQGDWRU\

&RUUHFW ODUNYV

4XHVWLRQ ,G

1R

b

"URQJ ODUNV

4XHVWLRQ 7\SH

0&.



Gl T
(Fefreet wee) (7m)
(A) NAD @ T S W NEiE - F
T & 07 T A B I
(B) SWAYAM PRABHA @) =it fsfiem gmeem w1 fafi mw
fefes #dz % sm 4 wFedl (TOE)
(C) NDL (ID) =i T FFTE WaE qu1 "ierE,
felt afe %1 24x 7 i @ =W EEE|
D) SWAYAM V) =l foem AR == faen = Rfe
HAATEH TETFER oA 0 7 |

@) (A, B)-@D). (C)-(1D), (D)-(IV)
(3) (A, (B)-IV). (C)-aD), (D)-D)
@)  A)-@V). (B)-@. (C-I). (D)-(IL)
2SWLRQV
b b
AXHVWLRQ 1XPEHU 4XHVWLRQ ,G AXHVWLRQ 7\SH 08&.

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNYV

Identify the correct order of following different types of storage/memory components in a
computer on the basis of price per bytes of storage from most expensive to least expensive :

(A) DDR4 RAM

(B) HDD

(C) 8SD

(D) CPU Cache

Choose the correct answer from the options given below :

(1) (&), D). (C). ([B) (2) (D). A).(C).®)
@) (4. ®). Q). D) 4 (D).A).®).@©



2SWLRQV

b

4XHVWLRQ 1XPEHU

4XHVWLRQ ,G

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV

URQJ ODUNV

4XHVWLRQ 7\SH

I (TNF) % T a2 Fi0E F AR W o ¥ feenad G TR F e A g
F TAYF T2 T =G0 50 % Tal 1 TEaH Hia |

(A
(B
(C
(D

DDR4 RAM
HDD

S8D

CPU Cache

i SR i R

f N

4!

1) @). D). Q). ®B)
(3) (A, (B). (C). D)

2SWLRQV

b

4XHVWLRQ 1XPEHU

4 fo1 ™ faedi 7 1 7 s A

2) (D). (A). (C). (B)
4 (D). (A).®).(©)

b

4XHVWLRQ ,G

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV

"URQJ ODUNV

4XHVWLRQ 7\SH

0&:

0&.



Given below are some metals which are released into environment from a variety of

anthropogenic sources. Identify the metals which have been of serious concern from the point
of view of pollution of water bodies

(A)  Aluminium
(B)  Copper
(C)  Mercury
(D) Cadmium
(E) Lead
Choose the most appropriate answer from the options given below :
(1) (B),(C). (E)only (2) (A). (B), (C), (E) only
3) (). (D). (E) only 4 (A). (B). (E) only
2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

A5 F9 aiga % AW T # 97 o TR % A A 8 e § St G e A |
Gl 21 T A 1 e o T o ORI § FH T e w

@) v

B)

()

D) e

(E) sfimm

(h) F= B). (C). (B @ F @), ). (). ®
(3 % (). D). (B) 4 = A). B). (E)
2SWLRQV



4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

(Given below are two statements :

Statement [ : Two sounds of same intensity but different frequency characteristics may

appear to be of different loudness.

Statement IT: The response of human ear to noise of different frequencies 1s not umform.

In the hight of the above statements, choose the most appropriate answer from the options

o1ven below :

(1)  Both Statement I and Statement II are correct
(2)  Both Statement I and Statement II are incorrect
(3)  Statement I 1s correct but Statement II 1s incorrect

(4)  Statement I 1s mcorrect but Statement I 1s correct

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



FoA (I): W A1 T A3 AT A 3 A A- A e i T
Fo (1) : ot sgfeel 1 A & T T F F 6 S T T A 7

T T F ATF A R T § F mae 9T T

(1) ®F s I2H & 7 |

@  FF AR II3A w8 7 7

(3)  m 19 & T om a8 7 2

@) FF 158 7 2 g wom 197 2|

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A): Long term low emission development strategies by each country are

cruclal to realizing the goals of Paris Agreement.

Reason (R) : Nationally Determined Contributions (NDCs) declared by each country are

not sufficient to keep the rise in global temperature upto 2°C above the

pre-industrial level.

In the light of the above statements, choose the most appropriate answer from the options

gven bhelow :

(1)  Both (A) and (R) are correct and (R) 1s the correct explanation of (4)
(2)  Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3)  (A)1s correct but (R) 1s not correct

(4)  (A)1s not correct but (R) 1s correct

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&:

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV



9 71 FoM o0 T 7 - v A (A) W 3 B T (R) FE G

A (A):  TF 2 g AviEd N I O e S i e # s

7 (R): T 371 g A TPE F F i ameE (W R ) s s g #@

- St T A 2°C A 7 T T % o e 7
TR T F A TR e 1 g waid e e

() (&) ¥ ®) T 7 7 31 R). (&) F1 79 =70 7 |
@ (&) ¥ (R) I T E W (R), (A) F wE e
@ Q) 2T ®) T T A

@ QT T 2T ®) W

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

Identify the correct sequence (decreasing order) of lifetimes of the following greenhouse
gases In atmosphere :

(A) Methane
(B)  Nitrous oxide

(C)  Surface ozone
D) CFC-11

Choose the correct answer from the options given below :

1) O=>®B=@A=(© @ (B> (D)= (A)>(C)
3 B>D)=©0)=>@A) @ D)>®>(C)=>(A)

2SWLRQV

0&.



b b

4 XHVWLRQ 1XPEHU 4AXHVWLRQ ,G AXHVWLRQ 7\SH
A4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNYV

'—I ‘_,I ;.; -El- B { IIH Plr]. Hﬂll’ E:q '.Fr.\Eﬂ' I Jﬂi’:‘:i} $ u?ﬁ ]"'_'EF l;'ﬂ'ﬂ:' rﬁl }T[) tﬁ[ Jrﬂ '_‘| :f' Irg l:.'_ 5

(A) =i

(B)  T5ZE AFETES

(C)  q-78m wI=H

(Dy CFC-11

O O>®>®>C @ ®>D)>@A)>(©

3 B=D=(C)=(A) 4) (D)=(B)=(C)=(A)

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

0&.

0&.



Given below are two statements
Statement [:  Hurricanes and typhoons are essentially the same as tropical cyclones.

Statement IT: Warm tropical oceans and molst awr mass are pre-requisites for the
development of tropical eyclones

In the light of the above statements, choose the most approprate answer from the options

given below :
(1)  Both Statement I and Statement II are correct
(2)  Both Statement I and Statement II are incorrect
(3)  Statement I1s correct but Statement IT 1s incorrect
(4)  Statement I 1s mcorrect but Statement II 1s correct
2SWLRQV
b b
4XHVWLRQ 1XPEHU 4 XHVWLRQ ,G 4XHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV ‘URQJ ODUNYV
R AR TS

T (I):  FI 3 29 AETTF B IO S % g A 7
H

TPIF F] F AT H IR e 6 A wais S I

(1) #FEIsIIE a e |

@  F Lo I3 o 7 |

@) FRIF:HRFE T T

(4  FF L7 T ¢ g T 1w 2|

2SWLRQV



b b
AXHVWLRQ 1XPEHU 4XHVWLRQ ,G A4XHVWLRQ 7\SH 0&
AXHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNYV "URQJ ODUNYV
Which of the following modality of higher education 1s the example of evolution 1n the post
independence India?
(1)  Teacher Education
(2)  Technical Education
(3)  Legal Education

(4)  Distance Education

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&:

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV

=4 o #1 FfafEa 4 9 8 T #1 3299 JeATR 9 § gal?

(1) e e
(2) AR
(3)  Tatas e

(4 T e

2SWLRQV



b b

AXHVWLRQ 1XPEHU 4XHVWLRQ ,G A4XHVWLRQ 7\SH 0&
AXHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNYV

The education 1mported through institutions of higher learning in India such as ‘Sanskrit

Vidyapith' is an example of

(1)  Non-conventional learning programmes

(2)  Value Education Programmes

(3)  Oriental learning Programmes

(4)  Professional education programmes

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&:

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV 'URQJ ODUNYV

i R i 7 Rl e e i e 2 e B i e e A e D
TR 27

(1)  TH-TRTH AE FEEA

() YFA S A FE

(3) A T

(4)  =IEEE A

2SWLRQV



b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

List I gwes stages of development of values while List II thelr outcomes

Match List I with List IT :
ListI List IT
(Stage of development of values) (Outcomes)
(A) Stagel (I Value collection through mvitation
(B) Stagell (II) Inner evaluation
(C) StageIII (ITIT) Value consohdation
(D) StageIV (IV) Value clarification

Choose the correct answer from the options given below :

(1) A)-II. (B)-{I). (C)-(1), (D)-IV)
2 @)-@). B)ID), (C)-AV). (D)-{II)
(3)  (A)-IV), (B)-@). (C)-II), (D)-(II)
4 (). B)-1V). (C)-1D), (D)-0)

2SWLRQV
b b
AXHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH 08&.

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



gl #1 w11 & gafer fiftse gl A 909 fwm F = fw o f st gl A s oo
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(e fevere = =) (vt
A =wI () A F A § e W
(B) = II (II) an g
(€) = III (D) 57 793
D) =WV (V) T Faet md
o e 4 8wl s A
(1) A-ID. B)-II), (C)-@). (D)-IV)
@  (A-D. B)-I, (O)-@V), (D)-(TD)
3)  (A)-aV). B)-0). (©)-a1I). D)-11)
@)  A)-I. B)-IV). (C)-D), D)-@O)
2SWLRQV
b b
4 XHVWLRQ 1XPEHU 4 XHVWLRQ ,G AXHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV

:URQJ ODUNYV

0&:



(iven below are two statements :

Statement [: The vice-chancellor of a University 1s an executive head who 1s vested with
administrative as well as academic responsibilities,

Statement IT: For a charismatic leadership attrbute 1n a vice chancellor both transactional
as well as transformational leadership competencies are needed.

In the light of the above statements. choose the correct answer from the options given below :
(1)  Both Statement I and Statement II are true

(2)  Both Statement I and Statement II are false

(3)  Statement [1s correct but Statement II 1s false

(4)  Statement I 1s incorrect but Statement II 1s true

2SWLRQV
b b
AXHVWLRQ 1XPEHU A4XHVWLRQ ,G AXHVWLRQ 7\SH 08&.

AXHVWLRQ 0DQGDWRU\ 1R

&RUUHFW ODUNYV ‘URQJ ODUNYV

ﬂﬁﬁﬂﬁ‘ﬂ%ﬂﬂvé
TG 7 2|

e (1) : Tl Ferui A HiwarE qea T 71 % foiw, 300 Horgamea S SaH e Al #
BT L R |

TPIF HO % A ° iR e 6 6w o

(1) FRIMITTEZ |

@ R I3 T

() FF 17 2 g Fom 117 2|

(@)  FA 9 2 g FoF Lo 2 |

2SWLRQV



b

b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

4XHVWLRQ 7\SH

For ensuring effective administration which of the following 1s most difficult?

(1) Changing the knowledge of individuals and eroups
(2) Changing the skill of individuals and groups
(3) Changing the attitude of individuals and groups
(4) Changing the behaviour of individuals and groups
2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNV :URQJ ODUNV
THTE TR GHfTEd A § g 5 " wiE a1 aaiis wied 6

(1)
(2)
(3)
(4)

2SWLRQV

4XHVWLRQ 7\SH

0&

0&



6 XE 6HFWLRQ 1XPEHU

6XE 6HFWLRQ ,G

4XHVWLRQ 6KXIIOLQJ $OORZHG <HV
b b
4XHVWLRQ ,G 4XHVWLRQ 7\SH &2035(+(16,21 6XE 4XHVW

<HV *URXS &RPSUHKHQVLRQ 4XHVWLRQV 1R
4 XHVWLRQ 1XPEHUV WR
4XHVWLRQ /DEHO &RPSUHKHQVLRQ

Read the passage carefully and answer questions from 46 to 50.

Our bfe exists by constant interchange and replenishment. Every day. food 1s needed for the
body to survive. For our vital energies to thrive every day. vital nourishment 1s needed. For
our minds to be sharp and intelligent every day. an increase in knowledge 1s needed. But a
human does not live by nourishment of the mind, life energy and body alone, but also by the
nourishment that comes by the connection with our Divine source. This deeper nourishment
1s needed each day for our Inmost well-being. To connect to our deeper self and receive its
nourishment, our awareness needs to touch deeper than our mind, vital energy and body. A
mere mental awareness cannot touch this inner-most space. Our efforts too can take us only
up to a certain point. The true question is, how much do we really want to connect with the
divimty within us. If 1t 1s a sincere inner urge, then at some point. we realize that there 1s a
Presence that lives within us and carmes us forward. To recogmze this Presence when it
reveals 1tself to us. we can begin to know its nature. It exists quietly in the background.
often unnoticed by our surface self. When we are lost in the whirls of our mind. vital life-
energy and body. we lose our connection with this ‘presence’. When we remember and
sincerely seek to connect, sooner or later, the Presence’ makes 1itself felt.

6 XE TXHVWLRQV
b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNYV
What 1= needed for the mind to be active?
(1)  Life energy (2) Nourishment for body

(3)  More knowledge (4) Constant replenishment of energy

2SWLRQV



b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNYV

Our inmost well-being depends upon

(1) Sharper intellect (2) Nourishment of body and mind

(3)  Acceptance of life energies (4) Connect with supreme power

2SWLRQV

b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&:

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

How can we realize the Divine Presence?

(1) By searching for the divine

(2) By recognising its presence within us

(3) By reaching the innermost space

(4) By making sincere efforts within one’s own self

2SWLRQV

b

4 XHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNYV



The Divine Presence 1n each individual can be found through

(1)  One's own realization of divinity (2) The wharls of our mind

(3)  The surface self (4) Knowing the nature of agitated mind

2SWLRQV

b

4 XHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNYV URQJ ODUNV

The passage focusses on the

(1) Need for body replenishment

(2 Intellectual thoughts

(3 Importance of connect with the Divine Presence
(4) Vital hife energies

2SWLRQV
b b
4XHVWLRQ ,G 4XHVWLRQ 7\SH &2035(+(16,21 6 XE 4XHVW

<HV *URXS &RPSUHKHQVLRQ 4XHVWLRQV 1R
4XHVWLRQ 1XPEHUV WR

4XHVWLRQ /DEHO &RPSUHKHQVLRQ
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6 XE TXHVWLRQV
b

4XHVWLRQ 1XPEHU 4AXHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV ‘URQJ ODUNYV
(1)  SF-=a (2) IR F o goa
(3)  @Afu® 7= (4) F=1 I Faq T

2SWLRQV

b

4XHVWLRQ 1XPEHU 4 XHVWLRQ ,G 4XHVWLRQ 7\SH 0&.
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



FHN HA=TaH A4 36 T FH A #

(1) TR wiae (2) THR TYT H T TE0

(3)  F= T F = (4) TH =1 F =Y Heg BT

2SWLRQV

b

4XHVWLRQ 1XPEHU 4 XHVWLRQ ,G 4XHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNYV :URQJ ODUNYV

faean =i sufrafa =1 =0 g TR O s79yE = Td 27

(1)  fe=gar #i @ g

(2)  FAW T IWA YT F TEAE g
(3)  H=aH TUH W AR A F A
(@) AW = % A =y = e F g

2SWLRQV

b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&.
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

T 9 0 259 IUEATH F 35 g 2 W Tl §

(1) = g fes % W= AgHE gw (2) FAN W F G
(3)  =E = g (4) wwfs@ T 1 TFA F T F g0

2SWLRQV



b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNYV :URQJ ODUNYV

T etefiEd § § 39 W Shied B

(1) v = gegfd i AEvEsa W Atfgs En W
()  siig e ™

3 fTeEufRFaydegsi % Eaw

(4) AEE 9 T W

2SWLRQV

b b
b b

3$57 ,, &RPPHUFH

BHFWLRQ ,G

BHFWLRQ 1XPEHU

6HFWLRQ W\SH 2Q0LQH
ODQGDWRU\ RU 2SWLRQDO ODQGDWRU\
1XPEHU RI 4XHVWLRQV

1XPEHU RI 4XHVWLRQV WR EH DWWHPSWHG
6HFWLRQ ODUNYV

ODUN $V $QVZHUHG 5HTXLUHG" <HV

6XE 6HFWLRQ 1XPEHU

6XE 6HFWLRQ ,G

0&.



4XHVWLRQ 6KXIIOLQJ $OORZHG <HV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV

Meaning of unpaid seller is

1. The person who has not paid the price

2. The person who has sold the goods and received the price

3. The person who has sold the goods and has not yet received the price
4. The person who has not sold the goods

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNV ~ :URQJ ODUNV
3y fashe T 3 g :

1. 9g oufad fore 4o &1 Y el fodl &

2. g SAfad o/ UM o9 16 § $iR IUeT J5 Ui @1 a1 g

3. 9¢ oafad fo- WM al o fean g difd 2if dd 34 Sq@! Yoo Wi el g3 §
4. 98 fad g4 g gl dd1 g

2SWLRQV
b b
AXHVWLRQ 1XPEHU 4XHVWLRQ ,G AXHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

0&.

0&:

0&:



&RUUHFW ODUNYV "URQJ ODUNV

Swachh Bharat Abhiyan is an example of

1. Sustainable marketing
2. Social marketing

3. Services marketing

4. Relationship marketing

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&:

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

Ta=s HRd AfiaH feger IgE g2

1. Udd fduuH
2. grHTfeidh fquor
3. 941 faqu=
4, FdY fguurg

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&.
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



Which type of studies would be most appropriate to use in order to measure changed
opinions of consumers repeatedly?

1. Focus group studies
2. Shadowing studies

3. Longitudinal studies
4. Experimental studies

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

JUHTE B IR-TR FCad! TG B B B & [0 (8 SRS &I SUdn S
Taiide 3ugad g

1. Bl TE AT
2. Oicr=81aT Heg-

3. 3rfaed Sreu
4, YIffeh g

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



Which type of retailers involve in comparatively low prices as a major selling point
combined with the reduced costs of doing business?

1. Convenience stares
2. Discount retailers

3. Limited line retailers
4. Category killer stores

2SWLRQV
b b
AXHVWLRQ 1XPEHU A4XHVWLRQ ,G AXHVWLRQ 7\SH 08&.

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

g UPR & Gexl [T SUengd BF SHd Wad & AR 38 1 ! ot v fagiva
&1 0 § forgd [ 3 ogagrd ®3- B arTd Y 9¢ 9l 87

1. gfaen €R

2. fearget e fagear

3. Yiftyd wiig e fasha
4. Yuit 1D TR

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&.
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV



Tele - Marketing is a part of

1. Viral marketing

2. Social marketing

3. Direct marketing

4. Relationship marketing

2SWLRQV
b b
AXHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH 08&.

4XHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNYV "URQJ ODUNYV
<dil-fauuHE 399 € g e g7

1. AR faQuH
2. graTfeiss fquuH
3. Ug& fququH
4. G f[guoH

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



After concept testing, a firm would engage in which of the following stage in developing
and marketing a new product?

1. Test marketing

2. Marketing strategy development
3. Business analysis

4. Product development

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&:

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV

TdhedH1 WA & Uy, fodl U 3dre & fady 3R fquvH & FefaRed ol § 3§ @l
wH g &M & ugd arfl?

1. TS1&10T fauom

2. [quu TurHld &1 faera
3. gAYy ey

4. JdTG faard

2SWLRQV

b b

4XHVWLRQ 1XPEHU AXHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



A marketer needs to be aware of the criteria by which the effectiveness of their
segmentation procedures can be assessed. Which of the following is NOT a criterion for
evaluating the resulting market segments?

1. Perishability

2. Size of the resulting segment
3. Measurability

4. Accessibility

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&:

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV

fqUUH®dl @I 37 AFGUS! & aR H THGRI 3@ B 9%d gidl § o gRI 3®!
Wi Uichanst & UHIaldIGHdl & AdHad [dhdl ol Godl ¢ | FafaRad § 9 & a1
URUNTAS SToR HSIHRU & Hedid- $- & AHUS Tol 67

1. TR
2. G GS Bl HHR
3. URHT

4:11‘@??

2SWLRQV

b b

4XHVWLRQ 1XPEHU AXHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



"Skimming" in e-banking refers to

. Identifying fraudsters copying vital information from credit cards
. Multiple transactions by one credit card

. Conversion of a debit card into credit card

1
2
3
4. Excessive charge for online services

2SWLRQV

b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

s-dfdhT1 o fEmar &1 3 &

. 3h1&2 BT U Heaqul a1 &1 Uiddid B ard YREsrs aill &1 dgd[ 1
.U hige BIe Y 9gd YR YHagR &l

. 2fge 1S &I whise Brs § YURGdH B!

. 31 1S Hareil & o WHRT F #ffaglg B3

2SWLRQV

B

b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&.
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNYV



Belated return u/s 139(4) can be filled at any time

1. Before the expiry of relevant assessment year

2. Before the expiry of one year from relevant assessment year

3. Before the expiry of relevant assessment year or before the assessment is complete,
whichever is earlier

4. Before the expiry of one year from the end of the relevant assessment year or before

the assessment year, whichever is earlier

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNV "URQJ ODUNYV
YRT 129 (4) T SFF1d [dciad 10 B [Gavull & GIiad [T o Gad &:

1. TTd R FHRo 9y g g 1 U

2. T R MU0 98 U 0P 99 QI g 9 Ugd

3. TTd B R oy & QA1 g U Ugd I1 Y R G 5 U Ugd, & 4 ugel 8l

4. rd @R fuRur o &) g1t § ueh ad g g U uge a1 i Huier ad g gH € ugd,
ot ¥t ogel §

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

0&.

0&



Tax audit is compulsory in case of a person is carring on business whose gross turnover
exceeds

1. Rs.60 Lakhs

2. Rs.1 Crore

3. Rs.40 Lakhs

4, Rs.2 Crore

2SWLRQV

b b

4 XHVWLRQ 1XPEHU 4 XHVWLRQ ,G A4XHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

i3 UaU - aldl i & HHd H &3 A& Hfar 81 ofidl & Ui 3961 Idhd
BHRIAN :

1. 60 TINE BUU T ¥ &
2. 18IS ¥ud U 3w g
3. 40 TG BUU T ¥
4,2 IS TUL U 3 d §

2SWLRQV
b b
AXHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH 08&.

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



Mr.X is entitled to transport allowance of Rs.1,800 p.m. for commuting from his
residence to office and back and he spends Rs.1,400 p.m. The exemption shall be

allowed of

1. Rs.1,800 p.m.
2. Rs.1,400 p.m.
3. Rs.1,600 p.m.
4. Nil

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&.
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV

ST X @I 30 a9 ®H € Sriad 3 R $Eiad 9 @ a0y o & o ufade
1800 TUY @1 I 4Tl U ®- B 8HGRI & 3K a8 WdHIg 1400 00 @9 Pid 6| 35
fob e $Ud o1 e o weE

1. 1800 ¥TL UfGHTE
2. 1400 344 UfcH8
3. 1600 ¥4 UfcHE

4. 34

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



Bliefs, attitudes, traditions and expectations which are shared by group members is
called

1. Group norms

2. Group communication
3. Group cohesiveness

4. Group structure

2SWLRQV
b b
AXHVWLRQ 1XPEHU 4XHVWLRQ ,G AXHVWLRQ 7\SH 08&.

4XHVWLRQ ODQGDWRU\ 1R
&RUUHFW ODUNYV "URQJ ODUNYV

THE Yol g1 1 fhT W aret oy, Sitrg i, TReRTa SR Siuafsii ol
------------ el Sl 8|

1. IHg WfdHH
2. HE Ty
3. g H8a@d
4. gHE XTI

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



Which of the following method of training is NOT a part of the off - the job training
method?

1. Sensitivity training
2. Transitional analysis
3. Apprenticeship

4. Conference method

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

Fafaiad | O ®F Of uineo G ofe
&-wTg winem fafy &t s T 87

1. HdgTgiear urEnemr
2. GHHUEIC g2y

3. TRragen uifeafam)
4. T fafy

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



In a moderately skewed distribution, which of following equation indicates the

relationship among mean, median and mode?

1. Mean = 2 Mode - 3 Median
2. Mode = 3 Median - 2 Mean
3. Median = 3 Mean - 2 Mode
4. Mode = 3 Mean - 2 Median

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&:

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV 'URQJ ODUNYV
fodt gmrg ® 0 1§ faudied seq § Fufafed § 9 &1 91 giis @, arfde AR
dgad & did YaY B GRMidl 87

1. 71 = 2 9gad - 3 AfEST
2. 9g0® = 3 AI®T - 2 A1
3. AT = 3 71 - 2 9ga®
4. 9g0® = 3 HI - 2 A

2SWLRQV
b b
4XHVWLRQ 1XPEHU AXHVWLRQ ,G 4XHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



If on an average, 2 customers arrive at shopping mall per minute, what is the probability
that in a given minute, exactly 3 customers will arrive? ( e = 0.1353)

1.0.1804
2.0.3532
3. 0.2352
4,0.1404

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNYV

afe; U MG Hiet H S 9d ©U 4 Ufd e 2 7150 Ugad & df 54 a1 @ fdaHi Wil &
fop fepedt few U fie & faepd 3 81 9I8d Ugdi? (e2 = 0.1353)

1.0.1804
2.0.3532
3.0.2352
4.0.1404

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&.
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNYV



Goodness of fit of a distribution is tested by

k- hest
o Fodest
. Chi - square test

1
2
4, 7 - test

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&.
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNV "URQJ ODUNYV

fobdl s @1 [e49 A% fthe BT & fhar Sidl g

1. 3 SR GNI

2. UH & gRI

3. B3 WL ¢ gl

4. 918 ¢GRI

2SWLRQV

b b

AXHVWLRQ 1XPEHU 4XHVWLRQ ,G AXHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



In a survevy people are choosed from class friends or neighbours for the purpose of
knowing their preference for a certain brand of soft drink, is an example of

1. Convenience sampling
2. Judgement sampling
3. Cluster sampling

4. Startified sampling

2SWLRQV
b b
AXHVWLRQ 1XPEHU A4XHVWLRQ ,G AXHVWLRQ 7\SH 08&.

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

for it wagrr o fopddl wiie favy & it fEd &I wa1el U o3 & aR ¥ §F- & Waiad 4
e & ol a1 ysiial § I T & 9o 301 o 9l &, 9 SaIeXul & -

1. gfasn gfd=gd @1
2. Fufg v @
3. bl Ui @I
4, THIDd Uidag= &

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



The following information is available for Ravi corporation

EPS-Rs4

ROI - 18%

Rate of return required by shareholders - 15%

What will the price per share as per Walter model if the payout ratio is 40%?7?

1.-Rs. 20.87
2::fis: 2033
3. Rs. 28.80
4. Rs. 30.63

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

+d 21 T8 TH@N ¥, aTee Hisa o SR Uid 3% Jed e 7e el ST 40%
gl

sHiug =45
3R 31 3T = 18%
SHYURB! gRT Ul Ufdhe &3 = 15%

1.29.87 300
2.29.33 340
3. 28.80 3
4.30.63 304

2SWLRQV



4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

Suppose that a firm has 20% debts and 80% equity in its capital structure. The cost of
debts and cost of equity are assumed to be 10% and 15% respectively, What is the
overall cost of capital?

. 11%
. 12%
. 13%
. 14%

VR U R T

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&.
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

HHT b faradt tH bl Yol TRa-1 | 209 F01 3R 80% FHAT 3= (3D g1 K0 3R
AT 3f2 DI AT HHRL: 10% 3R 15% & | SHD! G YoliTd TRId &1 57

1. 11 Uid=d
2. 12 Ufa=rd
3. 13 Ufd=d
4, 14 Ufa=rd

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4 XHVWLRQ ,G 4XHVWLRQ 7\SH 0&



4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV

A Ltd. has a share capital of 5,000 equity shares of Rs.100 each having a market value of
Rs. 150 per share. The company wants to raise additional funds of Rs.1,20,000 and offers
to the existing shareholders the right to apply for a new share at Rs.120 for every five
share held. What would be the value of right?

1.Rs.5
2.Rs.6
3. Rs.6.5
4. Rs.5.5

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&.
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV

U [HeS Bl Bi 3% Guil 5,000 THAT 31 & FoH Udd ®1 5 100 ST Y1 Ul
321 BT SR Y4 150 $UY &1 BT 1,20,000 T i SHidRad FE SeH 9red 8 3R
Tio[al SIRUR®] @ R U 710 Tde Ui o2 & o 120 00 &1 @R WS U T &
[RT0 3Tde X & SMUBR BI UREHT Bl &1 HUBR Bl Ged Tl 82

1.5 %04
26300
3. 6.5 500
4.5.5%0Y

2SWLRQV



4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

Which one of the following is the most pervasive and sustaining objectives of financial
decision making?

1. Profit maximization

2. Earnings maximization
3. Value maximization

4. Cost minimization

2SWLRQV
b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&:

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

Faffad ¥ € @F b1 faxda FHofg uisr &1 9aiiis s AR Sd e g 3e5d o

4. ci¥ld r‘;_lﬁd*—ﬂﬂﬂ“l

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&.
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNYV



Political risk management comes in the ambit of which of the following financial
decisions?

1. Non - conventional capital budgeting
2. International currency arbitrage

3. Foreign exchange market

4. Multinational capital budgeting

2SWLRQV
b b
AXHVWLRQ 1XPEHU 4XHVWLRQ ,G AXHVWLRQ 7\SH 08&.

AXHVWLRQ ODQGDWRU\ 1R
&RUUHEW ODUNYV ‘URQJ ODUNV
oo e ydee Faftieg § 9 g fadin Aoy & e 3 amar 22

1. HURHER® Juil Fe1fdT
2. SRIPIY HeR SRV

3. fac=i gg1 aeiR

4, SEUTT goll FoifeT

2SWLRQV

b b

AXHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH 0&

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



A company purchased a machinery on 01-01-2015 for a sum of Rs.60,000. The retail
price index on that date was 150. What is the value of machinery according to CPP
method on 315 December 2015, When the price index was 200,

1. Rs. 1,00,000
2. Rs. 90,000
3. Rs. 80,000
4. Rs. 70,000

2SWLRQV

b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&.
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV

UD HUH1 A 01-01-2015 Pl TP HRIFRT 60,000 T H GiG! | 39 dRIE H G&dl e i
150 4| I 0 ff 7S & 3FER 31 fGGwaR 2015 @I, 979 9 Gl 200 4, 7= &1 diFd
57

1. 1,00,000 94
2. 90,000 ¥
3. 80,000 ¥
4.70,000 ¥

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&.
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV :URQJ ODUNYV



X and Y are partners in a business sharing profit and losses in the ratio of 3:2. They admit
Z as a new partner with 1/5 share in the profits. Calculate the new profit sharing ratio of
the partners.

1.12:85
2.12:86
3. 1276
4.12:3:7

2SWLRQV

b b
4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

X 3R v Us SR H & SR g & 3:2 & 3ud ¥ UieieR g1 SeH z Bl ey & 1/5 4
YR & T JeR & &0 § itd foan iR d Ty &1 =01 9re 3HuTd &1 &7

1:12:8:5
2.12:86
3. 1276
4.12:3.7

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



If Activity Ratio of a firm is 80% and capacity ratio is 120%, find out its efficiency ratio.

1. 150%
2. 100%
3. 80%

4. 66.67%

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV URQJ ODUNV

U U I P febaIed SHUTT 80% & 3R &HdT U 120% &, 39 BIU&HT SFUId
@l Ffgd B

1. 150%
2. 100%
3. 80%

4, 66.67%

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G 4XHVWLRQ 7\SH 0&
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV



When current ratio is 2:1 and if equal increase in current assets and current liabilities

would result in

1. No change in current ratio
2. Increase in current ratio

3. Decrease in current ratio
4. Current ratio will double

2SWLRQV
b b
AXHVWLRQ 1XPEHU 4XHVWLRQ ,G

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNYV

4XHVWLRQ 7\SH

e 9Te] 3T 2:1 8 IR TS 91 uiEufa SR 9re] agdl &1 99E w9 9 gel ol dl

@1 GRUTH §HTE:

1. 9T 3T H DI gRad- el

2. 91 3O H g
3. T T | HH

4. 91 3G &l T BT

2SWLRQV

b b

4XHVWLRQ 1XPEHU 4AXHVWLRQ ,G
4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV

4XHVWLRQ 7\SH

0&:

0&.



2SWLRQV

b b

4XHVWLRQ 1XPEHU 4XHVWLRQ ,G
4XHVWLRQ ODQGDWRU\ 1R

4XHVWLRQ 7\SH 0&

&RUUHFW ODUNYV 'URQJ ODUNV

2SWLRQV

b b

AXHVWLRQ 1XPEHU AXHVWLRQ ,G AXHVWLRQ 7\SH 08&.

4XHVWLRQ ODQGDWRU\ 1R

&RUUHFW ODUNYV "URQJ ODUNV
























































































































































































































































































































